BB JFA U-1589h—1)—4 202455 {E3E

HERUAEHER
i AH g HAEHE =i5
9:00 HHRE ST 0 - 0 FEIHB
e 10:10 BRZEH 2 - 0 J754h—L $¥“|EF|
585 12:30 BgEh 2 - 0 A ST
13:40 #)115B 0 - 3 Jr74h—L
9 9/218 (1) 9:00 MKB 0 - 9 SE/KBIRE T
5 10:10 joga serio 6 - 0 FEERL B %
o 12:30 MKB 3 - 3 FaEpLBERB L
13:40 joga serio 0 - 3 yE7K B R
9:00 [ 7 - 0 #)1I$B
ES 10:10 E7KBERR T 3 - 2 Fatp B B
(1) 12:30 BAE 0 - 0 FaEbFETB =
13:40 e /K BBk 6 - 0 FE/l15hB
; 98238 (R) 9:00 A= 0 - 0 MKB
1 10:10 joga serio 1 - 0 J774h—L =t
il 12:30 SRS 1 - 0 Ir74h—L -
13:40 joga serio 3 - 0 MKB
= 9:00 TFHEEETHB 3 - 1 A/ ALZEIIFB
8 10:10 SERFETB 1 - 5 ML)
§ 9829H (H) 11:20 | xRasdFe | 1 - 5 SEMASHTB | ShESHETB
2 12:30 LLDhB 1 - 0 7395>7C
Bl 13:40 TFEZEEFHB 4 - 1 HHSHEB
9:00 MKB 0 - 2 JrF4h—L
10:10 FE)1hB 2 - 4 FaEBIL B
12:30 MKB 2 - 1 #)115B Gl
N 13:40 FEERPE B 4 - 0 Jr54h—L
L& 9:00 BRZEH 0 - 0 joga serio
? 10:10 AT 0 - 5 SE/KBIRL T .
1 10858 (+) 12:30 GEs 1 - 0 sE/KBARR "
3 13:40 joga serio 2 - 0 HREH SR
& 9:00 S HB 1 - 5 73495>7C
10:10 TFEEETHB 3 - 1 B
11:20 | A/AEERIFB | 0 - 6 Il e+
12:30 SRATB 1 - 5 739525C
13:40 HRESHTB 1 - 3 L1535 B
9:00 [ - MKB —
- 10:10 | EKBIAT - Jr7ah-L =
1 9:00 R =M - FaEBIL B -
1 10:10 joga serio - ) |5hB il
§ 10H19H (&) 9:00 HESHHRB - SEEATB
1 10:10 B - 7359525 C
4 11:20 | h/AZET+HB - BB peg=brlay
Ei 12:30 FEEEF B - L0 B
13:40 I/ ALZERFB - 734935>7C

RAE®M9:00FE THKEE= X IE HAMIBE;
JKIED9:00E THIKFE= KEEAMIB S




